Rev.

Description

Initiator

Date

Tool 2X @10 (Slip Fit) T 20 [4.06"] o1 Initial Issue DSS 1/07/2013
@ 100H7 T8 Cover Equally Spaced ~—— 103.1 ——=
Customer Interface Coupled
(See note 4) 46.1
Customer Interface ™ Tool ™
, 2X @10 (Slip Fit) V12
BC. @ 160 SO_ M57.t1 10XfC BofredS% 10.6 EquaIIy Spaced
(4) 30° n aster rom far S Customer Interface
for M10 SHCS —
Flat C 30° Spacing 30
. Flat C
H 6.4 Skip 10 D.P. r 38.2
Boss Customer Interface % L AM2
Flat D—~| 8X Tappevd1l\8/l12x1 75 g Flat B— | Modules
Customer Interface — — —
0° 223.5 © I *
160 B.C. 125 —
Note 5 O ©»80 S.F. 98
Square . ! - Customer AM2
Master & 6X Tapped M10X1.5
O Interface Modules
Tool v 20 !
Equally Spaced O 1 o
Customer Interface ] —
Flat B (B)~a] - E e ~—Flat D
Ot 0 O | [ &, i i
B.C @125/ 9 0 o ol o | A o o o o© 106.4
e ® 10 (Slip Fit) Flat A DA2-M
T 20 G1§4 Tool Changer Module
) Lock/Unlock air supply
Flat A = | E Customer Interface Customer Interface =]
= < I—1 L—1 | —1J |'||=||'l |T=# —
133.4 102.2
- DA2 —— DA2-T 28.8
Master & Tool Module Part Numbers: TSl
(A) Master: 9121-210BM-JF2DA2-0-0-AM2-SM Approx Wt: 7.3 kg (16.2 Ibs) Jumper
Tool Side (B) Tool: 9121-210CT-NA2DA2-0-NA3-AM2 Approx Wt: 8.7 kg (19.2 Ibs) Master Side Plug
(projection only) Notes: (projection only)
1) The DeviceNet Modules come with Standard "Mini-Style" Connectors,
4-Pin for Auxiliary Power and 5-Pin for Bus Communications. Refer to customer Master Note:

drawings of the DeviceNet modules for specific connector wiring information.
) The AM2 master and tool modules have (2) G1/2 checked ports.
) SM on master part number indicates PNP lock/unlock & ready-to-lock sensors with LED cables.
) Tool cover must be removed to utilize full depth of this customer interface feature.

With tool cover in place usable feature depth is 2.0mm.
)

or 9230-20-3063 and TSL manual for Tool Hooks/Tool Stand dimensions and mounting information.

Sensor input and valve cables not shown for clarity.

NOTES: UNLESS OTHERWISE SPECIFIED

Scale 1:3.5

DO NOT SCALE DRAWING. DRAWN IN SOLIDWORKS.
ALL DIMENSIONS ARE IN MILLIMETERS.

@

3rd ANGLE PROJECTION

o
ATI
—

INDUSTRIAL
AUTOMATION

1031 Gooaworth Drive, Apex, NC 27539, USA
Tel: +1.919.772.0115  Email: info@ati-ia.com
Fax: +1.919.772.8259  www.ati-ia.com

1SO 9001 Registered Company

PROPERTY OF ATI INDUSTRIAL AUTOMATION, INC. NOT TO BE REPRODUCED IN ANY MANNER
EXCEPT ON ORDER OR WITH PRIOR WRITTEN AUTHORIZATION OF ATI.

DRAWNBY: D Swanson 1/7/13

TITLE

CHECKEDBY: D Wagner 1/8/13

QC-210BM/CT, JF2/NA2, DA2, 0, 0/NA3, AM2, SM

WEIGHT LBS:  _

SCALE SIZE

1:3 B

ASSEMBLY REF:

DRAWING NUMBER

9230-20-3980

REVISION

01

PRODUCT RELEASE #

DATE:

sHeer 1 oF 2




Required Tool Hook Mounting Features

——— =1 76.2+0.03
4X C'Bored
from far side
38.1£0.03 —~=—m=| for M12 SHCS
(Provided)
Customer Interface
o197 ‘
00— —9 ¢ [
4 O e ¢ 4
C)‘@Q@O ©
_ \v o@ 95.9
VYo Y65 | 2" Do (SHCS)
@’ﬁ@[ \ o
191.70.03 T LB A iy 191.7 223.5
(Dowels) g H\YY b (SHCS) '
@D C) s 6€j o
95.9+0.03 oD o ¥ L
(Dowels) - () O@ ©O ©
@) X O
Y A AT N Y H
L) I_@__@_IQ O Y
[O_O 0 O]
4X @10 (Press Fit)
Customer Interface o T
(Dowel Provided) o T |
~= 53.5 =
] 258.4 —
—— 127 —
Tool Side

M12 X 1.75 SHCS (projection only)

(Provided)
Customer
17.8 Tooling Plate
Min Plate

@ 10mm Dowel

Rev.

Description

Initiator

Date

See Sheetl

®100H7 7 8
(See note 4)
Customer Interface

B.C. »160

2X 10 (Slip Fit) ¥ 20

B.C. @125/

Equally Spaced
Customer Interface
ﬂ) "
o, /0 \ [
Ve Ao don S 8X Tapped M12x1.75
" \D '
HEOINO) 718
\ Customer Interface

(4) 30°

V20

[l

\ ®10 (Slip Fit)
720

Customer Interface

(projection only)

Notes(continued):
6) NA2 / NA3 Hook modules requires use of 9121-TSL-IP-5640 or similar.

This sheet shows alternative mounting method of direct mount to customer tool.

Customer tool to have mounting pattern for QC-210 Tool and NA2 / NA3 Hooks.
7) Arrangement shown engages with 9120-TSL-CMH-C500 or similar.

See TSL manual 9610-20-1058 or www.ati-ia.com for more information.

Tool Side

6X Tapped M10X1.5

Equally Spaced
Customer Interface

NOTES: UNLESS OTHERWISE SPECIFIED

~

DO NOT SCALE DRAWING. DRAWN IN SOLIDWORKS.

(Provided) o o | A T
ALL DIMENSIONS ARE IN MILLIMETERS.

Thickness
and Fastener l
Depth |_
I

@

3rd ANGLE PROJECTION

INDUSTRIAL

AT ' AUTOMATION
—

1031 Gooaworth Drive, Apex, NC 27539, USA
Tel: +1.919.772.0115  Email: info@ati-ia.com

Fax: +1.919.772.8259  www.ati-ia.com
1SO 9001 Registered Company

PROPERTY OF ATI INDUSTRIAL AUTOMATION, INC. NOT TO BE REPRODUCED IN ANY MANNER
EXCEPT ON ORDER OR WITH PRIOR WRITTEN AUTHORIZATION OF ATI.

DRAWNBY: D Swanson 1/7/13

TITLE

CHECKEDBY: D Wagner 1/8/13

QC-210BM/CT, JF2/NA2, DA2, 0, 0/NA3, AM2, SM

WEIGHT LBS:  _

SCALE

1:3

ASSEMBLY REF:

SIZE

B

DRAWING NUMBER

9230-20-3980

REVISION

01

PRODUCT RELEASE #

SHEET 2 OF 2

DATE:




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet2
	Drawing View7
	Drawing View9
	Drawing View10


